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Final examinations Winter 2000
from previous terms INTRODUCTION TO ALGEBRA
(MATHEMATICS 201-007/00)
PART A PART B
Answer all questions to 4 decimal places (except where thisis obviously an in 14. Divide andwrite in theanswerin theform  Q(z) + (x).
sane request). d(z)
6—(2+1 44223 4222 — 2 -1 423 — 1022 -2
1. Findthevalueof theexpression: ﬂ (@ Rl d (b) d Oz” + 52
3(8—6) z2 41 T —2
2. Findthevalueof: (3 —4 x 5+ 3)°. 15. Simplify by factoringandcancellingcommonfactors:
3. Doz = 2 andy = —3 satisfyde — y = 11? Why? (Shav yourwork.)
222 — 5z —12 | 422 -9
4. Whatis theslopeof theline 2z + y = 5? 224+2-20  22+4r—5
5. Whatis theslopeof theline z = 3? 16. Subtractandwrite theanswerin lowestterms:
6. Whatis the equationof the line that passeshroughthe point (2, —1) and 1 1
—1,-1)? _
( ) 2 -1 224 3x+2
2A .
7. Solwefor B: h = Brb 17. Solwe theequationandcheckyour answer:
8. Solwe by factoring: 3z2 + 5z = 2. 6 1 9
9. Rationalizethe denominator: Sz+10 @—5 2%—3z-10
() 3 (b) 2 18. Graph2z — 3y = 6, andstatethez-interceptthey-interceptandtheslope.
V2 2-5
. . ) L . 19. Findtheequatiorof aline thatpasseshrough(2, —3) andis perpendicular
10. Find the values of x for which the rational expressionis undefined: t q_ P gh( ) perp
o — 3 ox+2y=".
a2 +x—6 —b+b? —4a
) o 20. Solvefor z usingthequadratidormula, = = e
11. Combineandsimplify. 2a
1223
@ — (b) (52 —3) — (22 — 2z)
3z 22 —x=1
: _1y-2
(©) 22% - 52° = @ (2271) @ (z+7)(z—-2) 21. Soheforz: (z —2)2 =4.
() V6x - V23 -3zt (9) v28 — /63 22. Solwe thesystemof equationsalgebraically:
1224 — 9x
n —— f 2 3 4 _ 7 2
() —— () (522)(32 —7a?) 2 4+ 3y — —6
. 3r — y = 12
0) V7T (VT+3) ) (V3-2)(V3+2)
] 23. An aeroplanas flying at analtitude of 8,000feet, It thendescends,000
12. Factorcompletely: . feetand a half hour later descendsnotherl,500feet. Whatis the new
(@) 22 — 11lzy + 30y> (b) 425 —122* — 4023 altitude?
2_9 5r — 1
© @ v+ o 0 24. A ladderis 18feetlong. It reached 5feetuponawall. How faris thebase
13. Solefor z: 3(3z — 5) = 4(3z — 1) — 17. of theladderfrom thewall?
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